THM7TEEAMNPERERERE FES5ENAMPERNRTIMR—LERKRS
KA EBRRTEAN—RILEK

zF A O—+ FE3 HE KRB
B SHM7E8A9AH (L) 12:10~
=15 ABXT)—F
F— L% /= =1 B F— L%
4 — 21
SEHER | hLONERSR 4 . B " 57 k% (faRE)
14 — 13
F—L% F—L%
nOHN(EIRS) k% (famE)
55 K4 "m| 3P| 2P |B#|REI| |BS K4 Ba| 3P| 2P [B#%| XA
4 | k<K TEFE | O 0 0 0 0 1 BE HAi 0 0 0 0 0
5 FL IE |21 2]o0]1 3 hR #zE o|lo|lo]|o0foO
6 BEO E o|lof|o0o]|o0of 2 4 ok 3| 1o ofo
7 HE E# 6 | 0| 3] 0] 3 7 AR EF] "Ml 1|1 3] 2|1
8 wE OEE |11 3|10 o0 8 | HHE HE o|lo|lo]|ofo
10 | L& &30 o|lofo]|]ofo 9 BEHE fEE 120 6| 0] 2
11 =R fEE o|lofo]ofo 11 B GRH w0 7] 2] 2
12 | Z=H T o|lofo]ofo 12 NI By o|lo|lo]|o0foO
13|l BE o|lofo]ofo 13 WE ¥ 2 o0 1]0]| 2
14| %k #M%E (10| 0| 5| 0| 2 15 BE HO o|lo|o|o|oO
17 H tiE 2| ol 1]0]|oO 16 W EH o|lo|lo]|ofo
18 =0 & 2ol 1]0]|oO 18 Er B Bl 2]2|3]0
22 & =i 0 0 0 0 0
25| #MBBZE [ o0 | 0| 0| O] O
77 WA E£ZE o|lo0o|lo0o]|o0foO
= 41| 5 | 13| 0 | 8 =1 57| 4 [ 19| 7 | 7




